Please do problems 33 and 34 from the information below
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Balance Sheet
December 31, 2007
Current assets:
cash

Marketabie securities . . .
Accounts rocsivable (net) . .
Invertory .- .. .-

Totai current assets . .
Irvestments . - .
Plant and equipment. - . - . -

Less: Accumulated depreciation
Not plant and squipment

Total assets. -

Liabitittes and Stockholders’ Equity

Current labiliti
Accounts pavable . . - . -
Notes payasle - - - . ...
Accrued taxes

Total current Babilities

Long-term nabilitios
Bonds payable
Total tabllities . ... .-

Stockholders equity
Freferred atock, $50 par valus
Common stook, 1 par value
Captal pald In excess of par.
Retained earnings. . . .

Total stockholdors’ equity

Total liabiliies and stockhelders’ ogquity

$ 430,000
80.000
800,000
(180,000)
<10.000

s 200,000

% 20.000
70,000
10.000

170,000

150,000
$ 320,000

100,000
80,000
190,000
210.000
s80.000
8 900,000
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Income Statement
For the Year Ending December 31, 2007

Sales (O oredit) <. ... e %1.980,000
Loss: Cost of goods sold . .. ...« ..o~ ...

BrOSS Profit ... 750.000
Cess: Selng and administea e 475.000"

Operating profit (EBIT) . . - ... -~ - e 225 000
Less: Interest expense e e 25.000

Earmings before taxes (EST) - T 200,000
LSS TBXGS « -« oo 80,000

Earnings after taxas (EAT) it .-.. B 120000

“Inciude:

$35.000 in Inane payments.





Part 2 Question 34

[image: image4.png]Financial Analysts and Planning

Given the financial statemoents £for Jomes Corporatic
shown bere:

=, To which one would you.
extension of (shott-

n and Smith Corporation
R )
answering.

mapager for a supplier.
rade credit? Why? Compw

as credit

approve the
te ahl ratos before
In which one wonld you buy sto

clc? Why'

cash

JONES CORPORATION
Crurrant Assets
Accounts recetvanie

Liabilities
..... . 20.000 rocounts payable - oo S0 ©0,000
............... . 80,000 Bonas payable (1ong term) . - -« - - 20.000
£ R 50.000
Long-Term Assets Stockholders’ Eauity
Fixed assets e % 500,000 Gommon SOk, <« -t .... ®150,000
o Amcurulatad depresiatien .- - (150,000) Baidniny GRPIAL . o 70.000
Fmpmpricapios D _ 250,000 Retained oarnings . . 100,000
Total AasEets - oo [ % 500.000 Total limb. and Sautty -« - £500.000
J S $1,250,000
oot of GoadS SEIG -« s 750,000
Gross PrOfit. -« o c s R
Selting and adrminisirat
Lass:

e 500,000
e EXPENSOT. <L 257,000
Deprociation expenssa - F
Oparating profit. - .«

Interest exXpenas - -

_ 50,000

Earnings bofare taxes

4ez,000
Tax expense

Net income [
rme net fixnd assHts N COMPUNNG fixad AsSer kL
e $7.000 in 18Aso PayMents.
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Current Assets
cash

s 25,000

Marketabls securities

7,500
Accounts receivable 70,000
Thventory - . - . 75,000

Long-Term Assets
B & 500,000
(250,000)
250.000
% #o7,500

Fixea assets
jess: Accum. dep.
Nt fixed assets® .

Total assets

“lsn net fixed as

sts in compuling fixod aSSet Turnovar

Liabities
Accounts payable

Bonds payakie (long-term)

sStockholders’ Eauity
Gommon stock. - . -

Paid-in capital

Retained sarnings .

Total lab. and eauity




Thanks
